Back to School Maths
Word Problems Level 3

Instructions

Read  each cluesfion carefu//g and  find  the relevant mathematical — information.

Whrite the aluesfion and answer as a maths equafion to show your undersfanding.

Examp/e: If T had ten lollies and | shared them between two friends, how many lollies
would Theg gel‘ each?

As a maths equaﬂon and answer, it would be written as 10 = 7 =5

USefu/ mmhemaﬁca/ sgmbo/s to use in your answers inc/ude:

+ - x - < = >

| The score during the start of school hockeg game between teachers and students was a

dmu/, with the teacher's team scorlng 8 Poim‘s in the first half and L in the second
half. The students scored 6 /oomfs in the first half and 6 in the second half.

Can you write a maths equaﬁon fo describe The dmw STaTed aboue?

7. In the teacher's maths corner of the c/assroom, there are 6 baskets of math cha//enges

with 7 activities in each row. How many maths activities are there a/TogeTher?

Can you solve this prob/em and write it as a mathematical equafion.?
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3. In prelz)aral‘/on for the back to school shopping rush in Januarg, the STaT/onerg sfore
produced [ 850 books in November and Theg produced 2600 school books in December.

Can gou record This informafion using symbo/s and numbers fo show which mom‘/) was

more proo/ucﬁue with the number of school books made ?

L. Jo was busg ma/eing back to school g/’fl‘ bags for her friends. She was Tfi//ing 9 bags.
She InuT & items in each bag. How many items were needed a/TogeTher?

Can you record this information using numbers and symbo/s instead of words?

5. /\/\g brother and [ checked our ho//dag job sauings at the end of the ho//dags. [ had
saved $175 and my brother had saved $150. He saved less than me.

Can you record this information using numbers and S(jmbols to show which

amount is less?

6. The teacher was doub/e—checfeing he had enoug/) sporTs gear to divide between the classes
at the start of the year. He counted the basketballs and found that he had L7. He knew

that Theg needed shar/’ng between | different senior classes. How many basketballs would
the teacher be able to qiue to each class?

Can you record the above information as a maths equafion.?
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7. In chec/e/ng the STaTionerg pac/es, the office manager found that she had ordered too many
g/ue sticks and decided to pul‘ some away for next year. She had ordered 750 but on/g
needed b-50. How many did she pw‘ away for next gear?

Can you record the above information as a maths equafion?

8. At schoo/, the students were se//mg raffle tickets as a fundraiser for their term | camp.
Theg made $250 in ToTa/, mismg an average of $50 per a’ag. How many dags did it

take them to make that much moneg?

Can you solve this prob/em and write it as a mathematical equafion.?

9. The classroom teacher had set aside $/ZO for a new set of class scissors. She found
some on specla/ at a well—known N/ deparfmenf store for on/g $95.
How much money did she have left?

Can you solve this prob/em and write it as a mathematical equafion.?

10.To sfop an argumem between two teachers, the Inr/nclpa/ calculated that both teachers had
been given the same number of devices for their classrooms. Room | had been allocated
|'7 tablets, 7 /apfops and || des/efop compufers. Room 2 had been allocated 20 /alm‘ops,
& des/efop compufers and [ tablets.

Can you write the ecluaTion that shows that the number of devices in each classroom

was the same?
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.8 + L =06+ 0

2.6 x ] = L7

3. 2L00 > 1850

L. 9 x 8 =172

5 %150 < $175

6. L2 = ] =6

/. 7150 = L50 = 300

§. 3250 = $50 = 5 or 5 x $50 = $250
9. $120 - $95 = §25

10.17 + 7 + 1] =20+ & + 7/
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